Similar Triangles
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2 EFG and GHI are similar triangles.
EF is parallel to HI.

Not drawn
accurately
H > l
12 cm
2 (a)  Write down the size of angle GHI. [1 mark]
Answer
2 (b)  Work out the length of EF. [2 marks]
Answer cm
2 (c)  Work out the length of GI. [2 marks]
Answer cm
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3 ABC and ADE are straight lines.
BD is parallel to CE.

Not drawn
accurately
3 (@  Work out the length of CE. [2 marks]
Answer cm
3 (b)  Work out the length of BC. [2 marks]
Answer cm

Turn over »

www. 1stclassmaths.com © 1stclassmaths Solutions



http://www.1stclassmaths.com/

u y r@ @1stclassmaths 4

4 ADE is a right-angled triangle.
BC is parallel to DE.

A
Not drawn
10cm accurately
6 cm
B sem C
1.5cm \
pH > E
4 (a) Work outthe length of DE. [2 marks]
Answer cm
4 (b)  Workout the length of CE. [2 marks]
Answer cm
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5 ABC and ADE are straight lines.
BD is parallel to CE.

A
Not drawn
6 cm accurately
B > D
C > E
28 cm
5 (@  Work out the length of BC. [3 marks]
Answer cm
5 (b)  Work out the length of AD. [3 marks]
Answer cm
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6 ABC and EDC are straight lines.
AE is parallel to BD.
A
B
Not drawn
accurately
10.5cm 15cm
9cm
E D c
< 21cm >
6 (a) Workoutthe length of AB. [2 marks]
Answer cm
6 (b) Workoutthe length of ED. [3 marks]
Answer cm
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7 ABC and CDE are straight lines.
AE is parallel to BD.
A
E
B 6.4cm Not drawn
accurately
D
2.8cm
C
BD:AE=1:3
7 (a) Work out the length of AB. [2 marks]
Answer cm
7 (b)  Workout the length of CD. [3 marks]
Answer cm
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8 ACE is a right-angled triangle.
AE is parallel to BD.
40 cm
A
n| E
Not drawn
accurately
B D
18 cm
C
AB:BC=7:3
8 (@  Work out the length of BD. [3 marks]
Answer cm
8 (b) Workoutthe length of DE. [3 marks]
Answer cm
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9 ADE is a right-angled triangle.
BC is parallel to DE.

D
Not drawn
accurately B

A 15cm

10 cm
=
A
C 12 cm E
Work out the length of AB. [5 marks]
Answer cm
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10 ACEG and BCDF are straight lines.
AB, DE and FG are parallel lines.

A

Not drawn
accurately
2.5cm
G
11.25cm
Work out the length of DF. [5 marks]
Answer cm
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